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I will divorce with it whichever one I want, it is invalid

Overview

The mwn states if a person (who has two wives with the same name) says to a scribe
‘write a 03 for me, and I will use it to divorce whichever one of my wives that I will
decide’; the v is 2109. Our MO broadens this ruling.
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The X923 explains the reason for this ruling because there is no concept of 779393 -
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And the "' states that even according to the one who maintains elsewhere that

79992 wo, nevertheless here he will admit that 7772 Px by a va. M9oN explains -
= NN NYYA 99931 XY ynwn NNvD NY ANt oivn

Because the P09 of 1 an2y, from which we derive that a 03 needs to be written

7w, indicates that it needs to be specified at the time of writing, who is being
divorced -
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And so it seems from the X923 where it states, ‘if it would be taught (that >"9
maintains 77°72 7°X) in this case (of v3), we could think that only in this case does
"' maintain ;779592 R, but not in other cases (inheritance), for this case is different -
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Because we require 572w 79°, therefore 17>72 is ineffective (however in other cases he could
maintain 77°72 ¥°). This concludes the citation from the X723 -

Lx,mo.
2 73772 (or choice) refers to a situation where presently the factors are not delineated as of now (like in this case where
at the time the v3 is being written it is not clear which wife he will divorce); however at a later date, a choice (777°12)
will be made (he will divorce wife # 1). The question is do we say that this choice is effective retroactively (so we
consider that at the time of the writing of the v it is 7nw?; it is for the woman he ultimately chose); 771°72 @, or do we
say that the later choice cannot be effective retroactively; 717°2 1R, so the v (in this case) is ineffective since it was
not written 7w specifically for this wife.
3 See later on 713 77 the various MY*w in varying cases regarding 77°2.
4 The word 1% in 172 2031 is to be understood to mean m»w?; meaning that when he writes the 03 (the an21) it needs to
be maw? — .
3 %,72. °"1 ruled there that even in the last case of 191 792%% =7 (which we are discussing here) the woman is not
considered divorced at all (regarding marrying a 1713, etc.) since 77°02 PR. " also ruled that brothers who divided an
estate are considered not like heirs but rather that they bartered with each other and must return the properties to each
other on 721 and make a new division since 7772 X, The cited X3 is explaining why the need to state the rule of
7772 1R regarding an inheritance, once we have the rule of 77°12 7R regarding a 03
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Indicating that even if we maintains generally 779392 @, nevertheless here by v it
would be 102 (in a 7712 case) since the 7710 wrote '79 2n21'.

Summary
Even those who maintain 777°72 > will agree that by 03 it is 77772 X since the 770

writes 179 2and).

Thinking it over
»yT and "OX 27 argue on > (who maintains 77°72 PR) and maintain’ that in the last

case (0f 719259 mx) she is 7707 909, indicating they hold 77°72 w° (regarding 7109
n110), but nevertheless the vx is 7109 and she is still married; proving that even
though "0oX 271 *7°¥7T maintains 77°72 PX, but regarding the M w> of a L) we say X
772, Why did not mooin use® this proof?!’

¢ The reason this is merely a 'vawn', and not a solid proof, because in actuality >"3 maintains 7772 1°X by w17 as well;
the X3 is merely making a Xm1>>7% that > needed to say both laws so we should not be mistaken, but that does not
necessarily prove that one who actually maintains 77°72 w° would be 77w that by v) it is 7772 7R, See ‘Thinking it
over’.
7R,m.
8 See footnote # 6; this seems to be a stronger proof!
? See w"X17 MdOIN and 071 7.
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